HELI@S

Model T3260 Wall Mount

Television Wall Mount with Tilt Option

_)
Q
0]
/ O
m 0]
0 , 0
0 ~N | o =
0]
g D Q C 0]
0]
o)
V(| O
8 @) o %
@) a
0] L
0 g ») C)/
== il

A CAUTION:

@® Please read this instruction carefully before assembly.
® Fits 32-60" plasma and LCD TV.
@® Weight Capacity: 50kg (110Ibs).



GETTING STARTED
D

A CAUTION :
SAFETY WARNING:

Never let children climb on product or play with product.

Do not sit or stand on product.

Do not fasten a TV that is heavier than the recommended load rating to the mount.

Using suitable concrete wall or wood stud wall.

Improper installation may cause property damage and/or personal injury,so the installation

must be done by two qualified contractors. The manufacture is not liable for damage or

injury caused by incorrect mounting, assembly or use.

Improper handling can result in cuts and lacerations.

Pictures for reference only, subject to our available products.

Keep this instruction for future reference.

A CAUTION : This mount is intended for use with weights not exceeding "maximum
weight capacity 110Ibs." Pls don't over tighten screws in order to avoid any injury.

Use with products heavier than the maximum weights indicated may result in
collapse of the mount and its accessories causing possible injury.

® Part list:

B-TV Bracket [=
2pcs

D CH > OOOOOOOOQOOOOO\'

4 3\
S @ %
1--Lag bolt 2--Anchor 3--Adjustable handle 4--M6 washer 5--Bubble level
4pcs 4pcs 2pcs 2pcs 1pc
\_ J




@® TV mounting hardware

a--M4x12 bolt b--M5x12 bolt ¢c--M6x12 bolt d--M8x16 bolt e--M8x20 bolt
4pcs 4pcs 4pcs 4pcs 4pcs
. J
o "l\\\\\\\\\t\\\\l\\\l\\\\\\\\\l\\\\\\\\\\\\\\\\\l 1|nmm\\uuuummuunummummmmumtm\um\! "I\\\t\\\\\\\\\l\\\\\\\l\\\\\\\\\\\\\\\\\\\\\\\\\\1\\\\\\\\\\\\\1
f--M4x30 bolt g--M5x30 bolt h--M8x30 bolt i--M6x35 bolt j--M8x40 bolt
4pcs 4pcs 4pcs 4pcs 4pcs
. J
k--5mm [--M4/M5 m--M8/M6 n--M4/M5 0--M6/M8
spacer 4pcs spacer 4pcs spacer 4pcs washer 4pcs washer 12pcs
-
p--M4 q--M5 r--M6 s--M8
washer 4pcs washer 4pcs washer 4pcs washer 4pcs
INSTALLATION

Step 1: As shown below, attach the Adjustable Handle (3) to the TV Bracket (B).
(Figure 1)

2 =
S ) &
\:md% 009/0000800000\
~

Figure 1

© C O

B

[S]
\:mdp OOO#OOOO%OOOOO\
~



Step 2: Pls remove the plaster board on the surface of concrete wall when assembling
mount on the concrete wall. Hold Wall plate (A) against wall at desired position on concrete
wall, then using a pencil mark 4 hole locations. Then drill holes according pencil marks using
3/8" size drill bit to a depth of 2.5". Then you will need to use wall anchors (2). Insert wall
anchors (2) into holes, you may need to use hammer to lightly tap wall anchors into wall. Then
fix Wall plate (A) to the wall with screws (1) and washers (0). (Figure 2)

A CAUTION: The concrete wall minimum thickness no less than 5.5 inches, and
surface covering can't more than 3/8 inches.

If you mount TV mount into wood studs ,pre-drill the mark 2 holes using 7/32" drill bit to a

depth of 2.5", fix Wall plate (A) to the wall with screws (1) and washers (0). (Figure 3)

A CAUTION: The wood stud min size is 2x4 inches, and surface covering can't more
than 5/8 inches. Drill hole on the wooden pillars middle line.

A CAUTION: Don't use it on the concrete block.

Concrete wall

Wood

Double Studs
16"/18"/24"

||ﬁi Figure 3 (keep the Wall plate level)
Stud finder



Step 3: Attach TV Bracket (B) to the back of TV, choose corresponding bolt,washer and
spacer to fix the holes of TV rear. (Figure 4)

If the back of TV is not flat, or the bolts used to assemble TV are too long, or there is

interfere between TV bracket and cable inlets, we highly recommend you to use spacers.

A CAUTION: Using incorrect bolts may damage your TV,

Step 4: Hang the pre-assembled TV unit on the wall plate and then tighten the
safety screws. (Figure 5)

A CAUTION: This step must require 2 or more professional to finish.

Figure 5




Step 5: Adjust the angle by loosening the two adjustable handles on the side to allow
the TV to tilt forward to 15 degrees or back to 5 degrees (Figure 6).

Once the desired tilt angle is achieved, tighten the handle to secure the television in the
new position. Take caution with wire clips to avoid damaging wires during angle
adjustment.

"

> = > OOOOOOOO%OOOOO\

—

\

> CH > OOOOOOOO%OOOOO\
©

Figure 6

Product dimensions:

685mm
MAX: 600mm 69mm
B

% MIN: 200mm % T

: é N
Sh {3 MAX: 400mm
430mm  222mm f ﬁ MIN: 100mm 1 >
“15°

‘(:-]:IDG]:
‘(:-]:IDGI:

PAY EXTRA CARE AND ATTENTION WHEN YOU FASTEN TWO TV MOUNTS

TO THE BACK PANEL OF TV IN STEP 3. MAKE SURE THE APPROPRIATE

MOUNT HARDWARE IS BEING USED PROPERLY.

1. Select correct Mounting Hardware according to the screw hole size of your TV,
discard any remaining screws or spacers.

2. Carefully lay your TV on its face on a non-abrasivesurface, making sure to lay
padding underneath it so as not to damage the screen.

3. Place left TV mount and right mount in the approriate position, making sure
CENTERED on the back of the TV and LEVEL with on another.

4.This product only install on the perpendicular wall,not install on the ceiling.



LIMITED WARRANTY
-/

Helios® — Limited Warranty — Valid in the United States and Canada

This 60 month limited warranty is provided by Metra Electronics Corporation for the Metra product identified by the
purchaser’s registration as indicated below, and there are no other warranties, expressed or implied, except as required
by law, including warranties of merchantability and fitness for a specific purpose, that are provided for herein, however
all such implied warranties, if any, are limited to the duration of this specific limited product warranty. Some states do not
allow limitations on how long an implied warranty lasts, so the above limitations may not apply to you.

Metra Electronics Corporation shall not be liable, under any circumstances, for incidental, indirect, special, and
consequential or multiple damages as a result of the sale or use of this product. Some states/countries do not allow the
exclusion or limitation of incidental or consequential damages, so the above limitation or exclusion may not apply to you.
It is recommended that the purchaser execute the product registration and warranty registration via the web within ten
days of purchase.

Limited Product Warranty:

This is a 60 month limited warranty, subject to the conditions, limitations and exclusions identified herein. Metra
Electronics Corporation warrants to the original purchaser of the registered or identified product for a period of five
years from the date of purchase, that the product shall be free of defects in design, material and workmanship, and
subject to the limitations set forth below; Metra Electronics Corporation will repair or replace, at its option, any defective
unit. This warranty is applicable only to the original purchaser and is not assignable or transferable. Metra hereby
warrants to the original retail purchaser of this product that should this product or any part thereof, under normal use
and conditions, prove to be defective in material or workmanship within five years from date of original purchase, such
defect(swill be repaired or replaced with reconditioned product (Metra’s option) without charge for parts and repair
labor. Purchaser must return the product to Metra, return receipt requested or by other means that confirms delivery and
Metra shall make the said repairs or replacement within 60 days of receipt. In some instances the product may have been
discontinued and cannot be replaced, or repaired. In that instance Metra shall in its discretion attempt to replace the
product with a substantially similar product in model or design or pay the purchaser a sum for the then fair market value
of the price, considering the amount of time since sale, and the use of the product. This Limited Warranty is the original
retail purchaser’s sole remedy for any and all such defect(s

Conditions and Limitations:

(1) Proof of purchase is required (i.e. the sales receipt or other proof of payment, such as the bar code and serial number
from the shipping box), and

(2) Products must be registered with Metra Electronics by using either the enclosed registration card, or using Metra’s
online services for registration purposes. Products that have not been registered will not be covered by Metra’s extended
limited five year warranty, but instead will only be warranted for the terms required by the State of purchase, if any.

(3) Damage caused by accidents, abuse, misuse or modification of the product will render this warranty null and void.

(4) To obtain repairs or replacement under the terms of this warranty, please contact Metra at 1-800-221-0932 or visit
www.metra-online.com. You will need to provide proof of purchase (dated receipt showing store where purchased) and
product serial number in order to receive warranty service. The purchaser is required to send the product back to Metra
Electronics Corp or to a designated repair center and the purchaser is responsible for all charges for shipping and handling.

This Limited Warranty does NOT cover:

Products which have been subject to abuse, accident, alteration, modification, tampering, negligence, misuse, improper
installation, lack of reasonable care, unauthorized repair or service, or if the model or serial number has been altered,
tampered with, defaced or removed.

Initial installation or the removal and re-installation of product.

(1) Cosmetic damage, damage that occurs in shipment, act of God or natural disaster.

(2) Missing accessories or components.

(3) Products used for any and all commercial purposes.

THE EXTENT OF METRA'S LIABILITY UNDER THIS WARRANTY IS LIMITED TO THE REPAIR OR REPLACEMENT AS PROVIDED
ABOVE AND, IN NO EVENT SHALL METRA LIABILITY EXCEED THE PURCHASE PRICE PAID BY THE ORIGINAL RETAIL
PURCHASER FOR THE PRODUCT.

Any questions of Notifications regarding this warranty should be addressed to:
Warranty Department, Metra Electronics Corporation
460 Walker Street, Holly Hill, Florida 32117.

THIS WARRANTY IS IN LIEU OF ALL OTHER EXPRESS WARRANTIES OR LIABILITIES. ANY IMPLIED WARRANTIES, INCLUDING
ANY IMPLIED WARRANTY OF MERCHANTABILITY, SHALL BE LIMITED TO THE DURATION OF THIS WRITTEN WARRANTY. IN
NO EVENT SHALL METRA BE LIABLE FOR ANY CONSEQUENTIAL OR INCIDENTAL DAMAGES FOR BREACH OF THIS OR ANY
OTHER WARRANTY EXPRESS OR IMPLIED WHATSOEVER.

No person or representative is authorized to assume for Metra any liability other than expressed herein in connection with
the sale of this product. Some jurisdictions do not allow limitations on how long an implied warranty lasts or the exclusion
or limitation of incidental or consequential damages so the above limitations or exclusions may not apply to you. This
warranty gives you specific legal rights and you may also have other rights, which vary from jurisdiction to jurisdiction.

10



HELI@S

©2018 Metra Electronics Corporation, 460 Walker Street, Holly Hill, FL 32117-2699
Specifications are subject to change without notice.
All trademarks are the property of their respective owners.
1-866-839-9187 ¢« www.MetraHomeTheater.com





